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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

0.04

0.02

0. 00 -

—0. 02 ~

-0. 04 ~

—o— dFVI
—0— dFVO0

T
140.0
day

T T T T
130.0 132.5 135.0 137.5

T T T
142.5 145.0 147.5

400 -

300 -

200 -

100

—&— DUC

00—

140.0
day

130.0 132.5 135.0 137.5

142.5 145.0 147.5

120 -

100

80 A

60

40 -

20 -

—&— FRV

T
140.0
day

T T T T
130.0 132.5 135.0 137.5

T T T
142.5 145.0 147.5

0. 25

0. 20

0. 15 -

0.10 -

| —e— FReC

140.0
day

130.0 132.5 135.0 137.5

142.5 145.0 147.5




400 -

300

200

100

30 A

25

20

15

10

80

70

60

50

40

250

200

150

100

50

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

. Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
— 1 ml | S
— | ’LAJ Mn\j\l V
’IFI |
= | T
) ﬁv-
VY \ll\ N\ . A /\
AN
WV
| | ,\ T Ront
I
— A \A\Vi\ v‘ L r""\l\LV,\ T —
\ \ W
VN Ny,
I Y i AN
W VIV P
/\;"7 N\ — LAl |
_— \
/ - \\\
e AN
A r\ o n optEtRate
NV VRV MUY
I /\. - n An.-"/\ A A ‘J[ M V v
| AT A
T



Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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9.0

Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6

BYiE) | GEBERTIC (B)) | EME (EAH/#K) | XS EFE

02:50 65 20.0 ;] FiH@02:50 (KRFERE)
07:35 65 20.0 i FiHAe07:35 (RFERE)
08:20 65 20.0 i FnHe08:20 (KR FERES)
09:05 65 20.0 i FEA@09:05 (K FAIERSE)
10:10 65 20.0 i FiHAe@10:10 (KREERES)
11:00 65 20.0 i FnHfe11:00 (KRFEERSS)
11:45 65 20.0 i Fnffet11:45 (REERES)
12:30 65 20.0 i FiHAe12:30 (RRAERSE)
13:15 65 20.0 i FnHRe13:15 (REERES)
14:00 65 20.0 i FiEA@14:00 (KAIERSE)
14:50 65 20.0 i FiEA@14:50 (KAERSE)
23t 715.0 (113%) 220.0 B UHKEC: 2589.3, PH: 6.4

[E&REC 4279.0 K&, iU F{KECHE;& H%ER
HEEIKECE (2877.0 vs 4279.0) B S




XX6_0, Day=150 (2025-03-25)
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XX6

AriE) | EBIAT (FD) | EBE (EHA/K) | XK EFE

03:45 62 20. 0 RS RR1%@03:45 (FKFHIERLES)
04:40 62 20.0 i RRi%@04:40 (FKPAIERSE)
07:15 62 20.0 i BRi1&@07:15 (RFERLES)
08:00 62 20.0 i 121£@08:00 (ARFEREE)
09:10 62 20.0 i BRi%@09:10 (FKPIERSE)
10:05 62 20.0 i BRi%@10:05 (KRFERE)
11:00 62 20. 0 i RRi&e11:00 (RAHEHE)
11:45 62 20.0 i BRi&e11:45 (RPBHERE)
12:30 62 20.0 i BRi&@12:30 (KPBERE)
13:10 62 20. 0 i BRige13:10 (KAERE)
13:55 62 20.0 i ’Ri&@13:55 (kPB{EREE)
14:40 62 20.0 i BRi&@14:40 (KPBEREE)
15:35 62 20.0 i Bi&015:35 (RFERSE)
24t]806.0 (13)%) 260.0 3EHKEC: 2583.0, PH: 6.4

ERGEBR AT CRIRIRBYEN (170.0 vs 67.0))
ZRIA L PRIEBES1.0 ml.

[Bl;&EC 4057.0 K&, EiXF{KECAE&idikER
HEERECE (2870.0 vs 4057.0) RS



XX6_0, Day=149.0 (2025-03-24)
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XX6

AfiE) | GEBIATC (7)) | EBE (EAH/K) | XS EFE

01:00 172 20.0 i ;Ri&@01:00 (KPB{EREE)
07:15 172 20.0 i BRi%@07:15 (KREERZE)
07:55 172 20.0 i BRi&@07:55 (KRFERE)
08:35 172 20.0 i 1;i1%@08:35 (K FAfER%=2)
09:45 172 20.0 i BRi%@09:45 (RFA{ERELSE)
10:40 172 20.0 i BRi%@10:40 (KRREERE)
11:30 172 20.0 RS FRi%@11:30 (RPAERSS)
12:15 172 20.0 i Ri%@12:15 (KRAIERSE)
13:00 172 20.0 i Bi%@13:00 (KRFERE)
13:45 172 20.0 i Rige13:45 (kAfEREE)
14:30 172 20.0 i BRi%@14:30 (KRPIERSE)
15:25 172 20. 0 i RRi&e@15:25 (KRAERSE)
2it] 2064.0 (12%) 240.0 EHKEC: 2525.4, PH: 6.4

EOREBBHERIRIERIZI (171.0 vs 67.0))
ZRIA L PRIEBES1.0 ml.
FH[EKRECE (2806.0 vs 3884.0) R



XX6_0, Day=148.0 (2025-03-23)
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TargetEC=2000. 0,  TargetSetEC=2525. 4

Warning: lcol ['ECB’, 'ECC’'] missing
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Warning: lcol ['PHB',| "PHC'] missing
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XX6

AfiE) | GEBIATC (7)) | EBE (EAH/K) | XS EFE

07:15 170 20.0 i ;Ri&@07:15 (kFB{EREE)
07:55 170 20.0 i BR1%&@07:55 (K PBIEREE)
08:35 170 20.0 i Bi&@08:35 (KRFERE)
09:25 170 20.0 i 1RRi%@09:25 (K FAfER%=S)
10:25 170 20.0 i B31%@10:25 (REERZE)
11:20 170 20.0 i BRige11:20 (REERSE)
12:05 170 20.0 RS RRi%@12:05 (FRAERSS)
12:50 170 20.0 i BRi%@12:50 (FKPIERSE)
13:35 170 20.0 i B1%@13:35 (KRFEREE)
14:20 170 20.0 i Rige14:20 (kPAHEREE)
15:15 170 20.0 i BRi&e@15:15 (FKPBERE)
16:15 170 20. 0 i BRi&e16:15 (KRAIERSE)
2it] 2040.0 (12%) 240.0 3EHKEC: 2496.6, PH: 6.5

ERGEBR AT CRIRIRBYEN (176.0 vs 69.0))
ZRIA L PRIEBES1.0 ml.
FHEIKRECE (2774.0 vs 3640.0) RS



XX6_0, Day=147.0 (2025-03-22)
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Warning: lcol ["WC1',| "WC2'] missing

TargetEC=2000. 0,  TargetSetEC=2496. 6

Warning: lcol ['ECB’, 'ECC’'] missing
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TargetPH=6. 0, TargetSetPH=6.5

Warning: lcol ['PHB',| "PHC'] missing
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